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2-RX e Accepting upon oneself to be a 1'12:
1) A - aforeign language term meaning the same as ‘“2'1Y’ is valid.
2) AT -anincomplete 172 to become a 1'1) whose intention is clear - is valid, e.g. “I
will be” whilst looking at a 7'1), or “I will grow my hair” whilst holding his hair.
e “laccept upon myself bird offerings” whilst looking at a 1'12:
2'8n ": He's referring to the nxn1v 277 of a 1'1) so it’s a valid T
n'dn: He’s could be making a 1 Ta to offer up bird offerings, so he isn’t a 1'72.
3) Accepting 1 aspect of nin'1) is valid to make him a fully-fledged 7).

Different types and durations of nin't:

1) Specified duration: 110X to consume anything from grapes, cut his hair and
become xnv from a dead body for that duration.
e “Xhours” is considered to be a day.
e “For 1000 years”: He’s a 07iv7 1'11 - he can never do these things.

2) Unspecified or less than 30 days: Lasts for 30 days.
e “Abig/small nin'11”: 30 days, because he just means it’s hard or easy for him.

Lasts forever:

3) |i¥ny 112 10N to become N, like Viatan jiviny.

4) n%iy 7'12: 0N to cut his hair once a year, like Di7¢2N.

e “I'll be a1 like the hair on my head/the dust of the earth/the sand of the sea”:

n'mdn: He’s a 071y 7'11 and each nin'T) period is 30 days instead of a year.
11: He's a 07i1v7 1'11 so he can never cut his hair, unless he accepts ‘nin'1)’ for
that duration instead of saying he’ll ‘be a 777"
“I'll be a 7'12 like the number of days of the sun”:
n'dNn: He's a 711 of 30 days 365 times (30 years).
17: He’s a 07iv7 1'1), because he meant as long as the sun shines.
“A houseful /basketful”: If he meant ‘a big ni17'72’ then 30 days, but if he had no
specific intention then he’s a n7iv 71'12 (p*AdN) or a n7iv7 V'l (Man).
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7-X e When not all the restrictions of nin'm) are accepted:

“I'll be a 712 from a food/animal/object”:

'"\n¥ nn: He's a 1'1), because ‘n'792% 12T X'yin DX |'X’ - one doesn’t make
meaningless statements which have legal significance, so he meant to be a 1'11 but
went back on it, and ‘jiwir |iw7 oion’ — we go with what he said first.

270 nra: He's not a 1'1), because ‘09m1 nTx 1'1127T 122" - we go with what he said
last which explains the first part’s meaning, that he made a 173 against something.
aTIA' " The argument is when he says he meant it as a 173, and “'7)’ means he’s
‘separated’ from it; only '*®nw n hold that it’s a valid " T2.

A woman was once pressured to have another glass of wine and said “I'm a n7'n2
from it” and the n'mbdn said it’s just a 173, since her intention was clear.

Acceptance of ni11'7) on condition that one of the restrictions won’t apply: The
condition is invalid, because it contradicts what the Torah says (‘ nn 2v nynna 73
202 iNI NP2 2NDY’)

If he didn’t know that a 7 '12 can’t have wine:

n'mdn: He’s a complete 1'1), since acceptance of just 1 aspect of Ni1'1 is enough.
lvnw ": He’s not a 1'1), since acceptance of all nin'7) restrictions is necessary.

If he thought the n'ndn would allow him to drink wine/become Xnyp and he can’t
live without wine or he’ll lose his job if he can’t become xnu:

n'mdn: He’s not a 1'1), because it’s in the category of ‘|'@1ixk " TY’ - a 0 T) whose
validity is out of his control.

lvnw "1 He is a 1'1), since even |'Q1iX "T1 require annulling.

-7 e nn7an - shaving his head and bringing the ninany after his ninrr:

Someone can bring his ni1a on his behalf.

“I accept to bring the 7'12 ninaY? for half a '™

'8N " We go with what he said first (‘jiwinn |iw'7 0i9n ’) and he can’t retract.
n'mdn: We go with what he said last (‘0911 nTx 1'127T 7122 ") and he needs to bring
half of the niiany for a .

-1 ¢ niIN'ml which is conditional on the birth of his child:

“A 12" includes only a definitely male child, because it depends on ‘DTX "2 iU’ -
its commonly understood meaning.

“A 171" includes any child.

If his wife gave birth to a stillborn, and it's unknown whether it had been in the
mother’s womb for at least 7 months:

n'mdn: He’s not a 7', since he intended to be one only if his condition is certainly
fulfilled. So if she later gives birth, he will be a 7'12 then.

Continued on back page...
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1-X e Expiry of his nin:
Date of Nnn722m:
1) “I'll be a 2'12”: n'7nndY7 day 31; Tay'12 day 30 because ‘i'132 ni'a nyjn’ - part of
the day is considered like the whole day.
2) “I'll be a 12 for 30 days”: Day 31, because he specified 30 full days.
3) 2 terms of n1N'12: n7NNDY days 31 and 61; if on 30 then n'7n1n27 60 and T2Y' 12 59.

Discounting previous days if he becomes Xny before the nn7an:
1) “I'll be a7'12” and he becomes xnyY on day 30:
D'MbdN: Restart, because we don’t say i712 Di'n nyjpn without the nn2an.
A1Y7X ": Don’t restart, rather do the nn'7am 7 days later once you are 1iny,
unless he explicitly said “I'll be a 213 for 30 days”.
2) “I'll be a 12 for 100 days” and he becomes xnyY on day 100:
D'dN: Restart.
ATV " Recount 30 days, because he became Xny on his last day of n11'11 so he
must observe a minimum period of ni1'7); this is learnt from a Pasuk.
“I'll be a 12 for 100 days” and he becomes xnY on day 101:
n'dn: Recount 30 days, because people may confuse that day with day 30 of a
standard nin'7) since they’re both days for the nn'7an.
A71Y7x ": Don’t recount, rather do the nn'7an 7 days later once you are 1ing.

If a xnV person - even if it's not a severe enough nxn1vV to make a 1'1) restart -
accepts ni1'1), his counting only starts from when he is 2ino.
- Ifone became a 7'11 in YIX7? yin which is [2277Tn xnv:
'NnW N1 Since it’s 2277, he only needs to observe 30 days in 7xw' yIx.
290 n'a: He needs to observe it all, just like a XnY person who accepts nin'm.
ATY7X ": One who becomes xnv on his first day of n10'7) is 1109 from bringing
a NXNILV |27, since the Torah says “the days” in plural.

If it’s a doubt:

e If there is a contradiction between 2 pairs of witnesses about how many
periods of N1n'1) he accepted:
'N\nv¥ Nnf1: He's not a 1'1), since they cancel each other out.
%0 nra: He's a 7' for the smaller number of periods, since both agree about that.
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X e One who compares himself to a ') “yarT 12 iR’ - within a couple of seconds - of
his declaration is a 1'1), so if the first man’s ni1'1) is annulled then so is his since it’s
dependent on the first man’s declaration.

Annulling one’s wife’s nin':

1) If she compares herself to him a7 12 iR of his niN'1) declaration, or even if
he asks her if she wants to be a 1'1), he can annul hers and remain a 1'7) himself.
e Ifit's the other way round, it’s like he’s approved her ni1'13 so he can’t annul it.

2) After she violates it: She is n1j7n 2''n (lashes), since his annulling is only effective
from that moment onwards.

3) Without her knowledge before she violates it: 17T nan 2"n (lashes |)277N).

After she had set aside niia7z:

1) From his animals: The animals remain |'71n because she can only use his animals
if she’s ann to bring a |25.

2) From her animals: Let the nxyn die, and bring the n%iv and n'm%v as voluntary
NN and the oM%Y must be eaten by the following morning, like a 1'72’s n''vi.

3) Money for the nina7z: Goes towards voluntary n7iy niiang.

4) Money specified for each of the 3 ni1a1jy: Destroy the nxvn money, and use the
n7iy and o' money to bring a voluntary n7iv and n'n‘7v (& eat by the morning).

Deadline for his annulling:

n'ndn: Sprinkling of the blood of one of the ni1aYj7, because then she’s "nin to
drink wine so it’s no longer an ‘@93 1w’ (suffering). This would not apply to the
NXNIL NiNAYR.

x2'7y ": Slaughtering of the nxvn, since its blood cannot be sprinkled if it's no
longer obligatory.

17: Shaving of her head, because to be bald is a ‘232" 1'a¥ 12T - something
which affects their relationship - and he is therefore able to annul.

T-1 e The nin'mi of one’s son as dictated by "'on nwn' nYa:

1) One can accept nin'7d on his |uj7 son’s behalf, if neither he nor his relatives
protest immediately upon hearing about it.
o I[f they protest after the father set aside niia7p, the laws are the same as for a

woman whose Ni1'1) was annulled by her husband after she’d set aside ninang.

2) ombdn: One can accept NIN'11 on condition that he use the money which his father
separated for his own ni1'1l nida7? before he died.
'ol' "1: He can only do this if he became a 7'7) before his father died.
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T-X e Mistaken declarations:

N1yY YUT7n - Error when designating something for the W Tynn na:

e E.g. if he intends to make the first of his oxen to exit his house ¥Tjn but specifies
his black one because he thinks it will be first, but a white one exits first.
'Nnv¥ nn: It is valid, like n11nn - when one exchanges a [277 animal for another
animal and they both must be brought as a |27 as a punishment.
290 nn: It is invalid, like most 0172 which require that ‘Dne a1 119’ - his
declaration is in accordance with his intent.

— Proof for 770 nna: If a npn mn'n tells a 7'1) who'd separated animals for his
NNy that his ninrma declaration was invalid, the animals remain |"721n
(non-vTp7i)

- Disproof: That’s only because a non-1'1) doesn’t have the power to
designate 1'72 Ni12y, not because of an error.

— Proof for '‘8nw nra: The 9th and 11th animal which pass through a pen’s exit
and are mistakenly marked as the 10th are valid as "1¥ "wyn as if they were
the 10th.

- Disproof: That only applies to the 9th and 11th animal - because of
what the Torah says - but not to any animal about which he errored.

N1yY NN - Error in a ni0'1) declaration:

e If anr'rd’s animals are stolen, this is not a valid ‘AN’ - consequence of the 1T
which makes him regret making it and serves as a basis for annulling it - since it’s
“T%i2’ - an unlikely occurrence which happened after the 1 T) was made.

— *Tnn binl mistakenly thought that 77i1 is a valid nn9 so he annulled the
D7) of 012 who regretted their 0'1T7) when the wT7nn n'a was destroyed
and they wouldn’t be able to end their ni1'12 by bringing ninang.

¢ A conditional nin'1) where he intends to be a 2'7):

'Nnw nn: It's valid, like nimn & vz,

290 nmna: It's only valid if the condition is fulfilled, like most n*712.

1970 ": It's invalid, since N11'1] is only valid if it’s clear at the time of declaration

that he’s a'n.

— When it is unknown whether the condition was fulfilled:

n'mdN: He isn’t a 1'7), since he intended to be one only if his condition is
certainly fulfilled.
290 nn + pynw " It's a doubt, so he should accept another nin'T2 on
condition that his original condition was not fulfilled.
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y-X8 o The 3 prohibitions of a '1a:
1) Consuming grape products: grape, wine, skin and seeds

All products combine to make up the minimum amount for which to be a"n
nip'm.

One is 2"'n a set of Nip'm for each product separately if he has the minimum
amount of it.

n'dN: The minimum amount is a N'7> - the size of an olive - even for liquids.
NMIWXI mwn (the original Halacha): A n'y'an - quarter of a ai'7 - even for solids.
X'y " Because the Torah explicitly forbids something soaked in
grapes/wine, even bread - which is not prohibited for a 7'1) - soaked in wine
combines to make the minimum amount.

N"ITY |2 TY7XR "M One is only 2'n if he eats both the seeds and skin of the same
grape.

nTIA' M “D9vn” in the Torah means the skins; “0'a7” means the seeds.

'or' "1: It's the other way round.

2) Cutting hair

If the majority of his hair is cut even by force within 30 days of the end of his
Ni1'1) period, he must count more days. However, he is still n1j7'yn an for less.
Ann to rub and scratch his head, but not with a comb.

8ynw' "3: Not even with earth.

2N to cut his hair if he becomes 1inY from having nv1y, since * X7 ANIT nYy
NYYN’ - a positive mitzva overrides a negative mitzva.

3) Becoming Xnv to a dead body

2''n to become XNY to bury a ‘ni¥xn NN’ - a dead body which is not being taken
care of by anyone.
If he becomes Xny, he must restart his n11'71 and perform a ‘Anxn1vD NN'7aN’ -
shaving his head & bringing nixang:

— 7th day of the purification process: shave. 8th day: bring his niiang.

- Ifhe shaved on the 8th day, he still brings his ni1za7j on that day, since
his purity depends on waiting 7 days and go to the nJjyn, as opposed
to a yhixn whose purity depends on the actual shaving, since he can
only go to the nJjyn after shaving.

e One is N7 2"n corresponding to the number of times he was given ‘axna’ -
warning - not to transgress the prohibition.

Continued on back page...
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Becoming Xnv from a dead body:

e Ifa%ima |2 and 1) find a niyn nn:
ATY"IX " The 7i72 |03 should bury him, since his nxn1v is less severe since he
doesn’t bring a |27 for it.
n'mdn: The 71'11 should, because his sanctity is not as great since it isn’t lifelong.

1) If he becomes xnyY directly from the dead body, he must restart his nin'm.

e Even though a quarter of a 27 of bones and a quarter of a 217 of blood make
him xny, it is 1'on nwn% n7n that it only interrupts i if it’s halfa a7 /
2i%2.

A limb taken from a live animal which contains enough flesh which would
allow it to regenerate if it was attached is included.
2) If he becomes |32277T™n XNV or XNV not directly from a dead body, he doesn’t need
to restart his ni7'7), but the days that he is xnQ don’t count for his nin7.
3) Itis'2'on nynY% n)7n that the days that a 2a7/n2r1 is XY and the days that someone
with ny1y is locked up to see if he is XY do count for his nin'm).

yuIn' "\ DIvn ATY™IR " Any nXknio from a dead body which makes a 7'1) restart
his n11'1) makes one who enters the ¥Tpnn n'a in that state 2mn.

'8N " Since NNV from an insect doesn’t interrupt niN'7) at all yet makes one
a0 for entering the ¥Tpynn N3, all the more so NnxN1V which interrupts the i1
- even if it doesn’t make him restart - makes him a"'n for entering the ¥iTynn na.
N2'7y ": Since a barley-sized bone doesn’t makes those under the same roof xnv
yet does make a 1'1) restart if he touches or carries it, all the more so a quarter of
a ai'7 of blood which does make those under the same roof xnu should make a 1'12
restart.

ATV " We can’t compare it to a barley-sized bone, since that’s '2'0n nwin'% n)7n.
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When it is a doubt:

'NRV 790 ,T'R'a MY AaxnIV 290" - If a doubtful NnXN1V occurs in a private
domain where there are less than 3 people, we rule stringently.
If someone tells 2 D"1'71) who were in a private domain that he saw 1 of them
become Xnv but he doesn’t know who:
They should bring a nxn1v 1277 and N1V 1277 and stipulate that each should be
for the one who requires that |27p, then both observe another nin'1) period and
bring a n10V |27 and stipulate that it should be for the one who became xny.

— If one of them died:

ywin' "1: Someone else (Jiyvny) should make a conditional nin'1) that if this
man (|21X1) is Xnv then he’s a 1'1) from now, and if he is 7inY then he’sa1'n)
from 30 days’ time, and both observe 2 more periods of nin'1). After 30 days,
they bring a nxn10 12777 of just a NnxYN bird (which may be brought even if
it isn’t an obligation) and Nn10V |27 and stipulate that if he was xny then
the nxni1v 12777 is |2IXY’s and the N1V 2777 s |ivnY’s, and if he was 1iNY
then the n1nV 2777 is |21XY’s and the nxniv 2717 is out of doubt. After
another 30 days, they bring a "0V |217 and stipulate that it should be for
whoever the 1st nxn1v |277 was for.

NnIT |a: It will be too difficult to find someone willing to become a 3'72 in
order to help him, rather he should bring a nxvn bird in case he’s xnY and
an n7iy animal in case he’s 1inyY, then after observing N1 for another 30
days bring a normal n10V |2177, and stipulate that if he was 1inY originally
then the nY%iy is voluntary, since your first n7iy was part of the N1V |277.

If a 7'12 on his first day of nin'7) is possibly xnv and possibly had been a yaixn
which would require him to shave twice:

He must shave his hair every 30 days for 120 days, and can eat niia1y after 2
shavings, since those 2 would fulfil his vivn obligations, and his NNt restrictions
are lifted after 4 shavings, since the first 2 only cover the yhixn’s obligations, and
if he was Xnu then the third shaving was his nxn1vn nn7an and his 4th was his
NNV NN7AN.

If he was a definite ynix¥n, he may shave during his n11'7) because ‘ X7 nRIT Ny
NYYN’ - a positive mitzva overrides a negative mitzva.
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Who can become a 1'1:

1) Anon-Jew can’t

2) A woman can, unless her husband annuls her vow on the day he hears of it.

3) Aslave can, but his owner may force him to transgress his ni1'm.

e Ifherunsaway:

2'8n ": He can’t drink wine as a punishment and in order to make him return.
'or' "1: He should drink wine, since his owner would want him to in order that
he be strong and able to work when he finds him.

1277 0'7221" - When there is basis to assume something:

1) The 21'on nwin% N0 that if the 7'7) found out after his nn'7an that he had become
NN from a ‘Dinnn NxN1V’ - something whose location was hidden and unknown
- then his nn‘72n was still valid is only said when he had a np7Tn - a status presumed
to be what it has been until now - of being 1inY, but not if it occurred when he was
becoming 1inY from being Xnv.
1 or 2 random graves which people don’t know about in an area can be removed
to be buried elsewhere in order to prevent people becoming xnY. However, if there
are 3 which are spaced in the usual manner for graveyards, the surrounding 20
ninX - the rough length of a courtyard with 2 burial caves on either end - must be
checked, and even if just 1 or 2 graves are found at the end of the 20 ninx, another
20 ninx must be checked.

3) If it’s a doubt whether one’s nyax has spread, he’s 1inY because of his nypTN.
However, if it's a doubt whether it’s returned to its original size, he remains Xny.

4) We check whether n2't - something which happens to the body which makes one
NNU - is caused by something out of his control which would prevent him being a
A7 up to the 2nd time it occurs, but not for the 3rd time since he’s got a nprn of
being a Q7.

5) If T n'a measure that the wound which |21x7 gave |ivny will kill him but jjynw
only dies after his condition first lightened, |21 is still 2"'n.
nmn ": He's 1109.

"X " One who compares himself to X230 7&Inv is a 07iy 1'11 like he was.
'ol' "1: He isn’t, and when n)n his mother said to Hashem “iwik1 7v N7y X7 n1int”, that
means that he won't have fear of other people, not that a razor won’t go on his head.
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